
 

 

  

https://testzone.smartkeeda.com/Test/Pricing


 

 

Seating Arrangement for IBPS Clerk Pre, SBI Clerk Pre, LIC Assistant 

and IBPS RRB Exams. 
SA Set No 151 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

Eight people O, H, U, V, I, D, B and G are sitting around a circular table facing the centre.  
  
O is sitting second to the left of U and third to right of H. D and I are immediate neighbors of  
each other and one of them is an immediate neighbor of O. V is sitting second to the right of B. 
G is sitting second to the left of D. 
 
 
Questions : 
 

1. Which of the following persons sitting between H and V? 

A. D   B. I   C. U   D. G   E. None of these 
 

2. Starting from B’s position, if all the eight were arranged in alphabetical order in 
clockwise direction the seating position of how many members (excluding B) does not 
change? 

A. None  B. Only one  C. Two   D. Three  E. None of these 
 

3. What is the position of U with respect to B? 

A. Second to the right  B. Fifth to the left C. To immediate right  D. Either option A or B  
E. None of these 
 

4. Which of the following persons is sitting immediate right of V? 

A. B   B. U   C. O   D. I   E. None of these 
 

5.  Which of the following pairs has only one person sitting between them, if the counting 
is done from the right of latter? 

A. G, I   B. V, I   C. B, H   D. I, H   E. None of these 

 
Correct Answers: 

1 2 3 4 5 

D A C E D 



 

 

Common explanation : 
 
Reference: 
O is sitting second to the left of U and third to right of H. 
  
Inference: 

 

 
Reference: 
  
D and I are immediate neighbors of  each other but one of them is an immediate neighbor of O.  
V is sitting second to the right of B. 
  
Inference: 
Here, we can place D and I as follows: 

 

 Reference: 
G is sitting second to the left of D. 
  
Inference: 
To fix these two positions, we will have to place D to the immediate right of H. Thus, we get the final 
arrangement as: 
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Answers: 
 
1.   Following the final seating arrangement, we can say that G is sitting between H and V. 
  

Hence, the correct answer is option D. 
 
 

2. Following the final seating arrangement, we can say position of none of the members remains the 
same if we arrange all alphabetically as given in the question.  

  
Hence, the correct answer is option A. 

 
 

 

3. Following the final seating arrangement, we can observe that U is sitting to the immediate right of B. 
  

Hence, the correct answer is option C. 
 
 

4.   Following the final seating arrangement, we can say that G is sitting to the immediate of right of V. 
  

Hence, the correct answer is option E. 
 
 

5. Following the final seating arrangement, we can say that between I and H only one person sitting 

between them, if the counting is done from right of H. 
  

Hence, the correct answer is option D. 
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